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QUESTION 1
A healthy vSAN Stretched Cluster has the existing vSAN Witness Host swapped for a new vSAN Witness Host using
the "Change Witness Host" wizard. If the administrator takes no further action, which two does the vSAN Health Check

report show? (Choose two.)

A. Performance Service

Correct Answer: CE

QUESTION 2
An administrator wants to orchestrate the update of the controller driver and firmware in a vSAN cluster.

Which is a required step when using VMware vSphere Update Manager and vSAN Health Service to perform the
updates?

A. Upload an OEM provided vSphere 1SO.

B. Install a vendor tool for the controller.

C. Manually create a vSAN system baseline.

D. Ensure all controllers are in pass-through mode.
Correct Answer: C

Reference: https://docs.vmware.com/en/VMware-
vSphere/6.7/com.vmware.vsphere.update_manager.doc/GUID-6906DCFA-F4A4-4A67-A86D-2F56 ABOB3B38.html

QUESTION 3

The clomd service has stopped on 1 host in a 3-node vSAN cluster. All other services on the host, as well as the other
2, are healthy. Additionally, the unmodified vSAN Default Storage Policy is in use. Which would be an expected
outcome for a new VM deployed into the vSAN cluster?

A. VM deployment will fail.

B. VM deployment will complete but VM 10 will fail.

C. VM deployment will complete but performance will be degraded.

D. VM deployment will be deferred by vCenter.

Correct Answer: C
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QUESTION 4

A 3-node All-Flash vSAN cluster has this configuration:

One disk group per host All disk groups have identical make and model disks of an 800GB NVMe SSD cache and 2x
4TB SAS SSDs each An administrator has been tasked with expanding storage capacity by adding one additional disk
group with this configuration: 1.6TB SAS SSD cache and 1x 4TB SAS SSDs Assuming all the disks are compliant with
the vSAN HCL, which is true?

A. The additional disk group would not be possible as vSAN would not allow it.

B. The additional disk group would work and be fully supported by VMware support.

C. The additional disk group will generate an "Advanced vSAN Configuration in sync\\' health check warning.

D. The additional disk group would make this cluster an unsupported configuration.

Correct Answer: D

Reference: https://blogs.vmware.com/virtualblocks/2019/04/18/vsan-disk-groups/

QUESTION 5

A VSAN administrator is working on a 4 host homogenous vSAN Cluster that has 2 disk groups per host. One of the
hosts needs to be permanently removed and repurposed for some other use. These are the out of order steps which
need to be completed:

1.

Delete the disk group(s) that reside on the host you want to decommission.

2.

Wait for resync traffic to complete and the host to enter maintenance mode.

3.

Ensure there is sufficient capacity in the vSAN disk groups to decommission a node.

4,

Put the host into maintenance mode with full data migration selected.

5.

Move the ESXi host out of the cluster. What is the correct order?

A.3,1,4,2,5

B.3,4,2,1,5

C.4,3,2,51

D.4,3,2,1,5
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Correct Answer: B

Reference: https://kb.vmware.com/s/article/2148975
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